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Probability Laws

O PLA)o
A EF

② P(r) = 1

③ For disjoint [Aic ... An] ; PEAi]=A



OxProne P[As] = 1- P[A]



OxProne P[As] = 1- P[A]

A ua = R

PLAY Ac = p(27
= 1 = p(a)+ P(n)]

=> PLA] = 1- PEA]



0) Prove for any A = 2 ; PLAJE



0) Prove for any A = 2 ; PLAJE

p[A]+P2As] =

PCAS] 0

=> PLAT l



For any
A and B

p[AUB] = p[A] +O[B]-PCAnB]



For any
A and B

p[AUB] = p[A] +O[B]-PCAnB]

⑤



For any
A and B

p[AUB] = p[A] +O[B]-PCAnB]

⑤ 80

= PLALB] + P[AnB] + P[BIA]



For any
A and B

PLALB] + P[AnB] + P[BIA]

= PlanB + p[and] + PEBna]]



For any
A and B

PLALB] + P[AnB] + P[BIA]

= PlanB + p[and] + PEBna]]

= Pland] + p[and] + p(ana]
+P(3na] - Plan)



For any
A and B

PLALB] + P[AnB] + P[BIA]

= PlanB + p[and] + PEBna]]

= Pland] + p[and] + p(ana]
+P(3na] - Plan)

An is Non overlapping

80 An B



-
For any

A and B

palB] +] + Persial

= Pi] P[BTA]

G- PEB]-p[AnD]
A B

+ -

es CATCA
~



For any
A and B

PLALB] + P[AnB] + P[BIA]

= PlanB + p[and] + PEBna]]

= Pland] + p[and] + p(ana]
+P(3na] - Plan)

= PlanBYUlar]] + pCiana) UcBnal]-Pland)



For any
A and B

PLALB] + P[AnB] + P[BIA]

= PlanB + p[and] + PEBna]]

= Pland] + p[and] + p(ana]
+P(3na] - Plan)

= PlanBYUlar]] + pCiana) UcBnal]-Pland)

= P(a) + p[B] - p[AnB]



a) Prove

P(AuB] = p[A]+P[B]



a) Prove

P(AuB] = p[A]+P[B]

Plau3) = plaT +
Per]-pEand]
-

-
: PLAUB] E PLAT +PIR]



P(A)= x , P(B) = y ;
P(AuB) = 2

D PLA1B]=?



P(A)= x , P(B) = y ;
P(AuB) = 2

D PLA1B]=?

PEAUB] = p[A] + PEB]-PLAnB]

: plare] = Patteca)-plaur]
= x+y -z



P(A)= x , P(B) = y ;
P(AuB) = 2

2) DEAB =?



P(A)= x , P(B) = y ;
P(AuB) = 2

2) DEAB =?

= p(Aur]
= 1- 2



P(A)= x , P(B) = y ;
P(AuB) = 2

3) p[and]



P(A)= x , P(B) = y ;
P(AuB) = 2

3) p[and]

= P(a\B]

= P(A] - P[AnB]
= x- (x+y

-z)

= z -y


